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COMMERCE

1. Which of the following is not a feature
of globalisation?

(A) Only multinational firms are
engaged in international business

(B) Similar strategies are adopted by a
firm in all markets

(C) The convergence of ideas and culture
(D) Obliteration of national boundaries

2. KFC and Subway are the examples of which
of the following entry modes?

(A) International Licensing
(B) International Leasing
(C) International Franchising
(D) Turnkey Project

3. Which of the following forms of FDI
is a cooperative agreement between
firms?

(A) Acquisition

(B) Strategic Alliance

(C) Merger

(D) Joint Venture

4. With reference to Balance of Payments,
which of the following constitute the Current
Account?

(1) Balance of Trade

(i) Foreign Assets

(i11) Balance of Invisibles

(iv) SDR

Codes:

(A) (i) only
(B) (ii) and (iii)
(C) (i) and (iii)
(D) (i), (i1) and (iv)

5. Inwhich of the following group India is not
a member?

(A) G-15
(B) UNO
(C) ASEAN
(D) ILO

1. Toa @b R @%g 7372
(A) (FIETING IZNRT AL SIS & AN
RS
(B) TR AGIE @6 W AfowiE
GBI (FHET &2 FC
(C) IO G FAHOF (T

(D) & S Reffesael

2. T5a @G KFC @R Subway-493
AR SwoR SrRel ?

(A) SI@Efes Swfs (Licensing)

(B) SeE(fes aEamifd

(C) SIeefes iz

(D) Tefd 2/%% (Turnkey Project)

3. FDI-493 (7 <310 e fora Sy shRfe fes
piete St ?
(A) wfEeze (Acquisition)
(B) GFI¥a1sre (@l (Strategic Alliance)
(C) @aqFa¢ (Merger)
(D) @2 Toast (Joint Venture)

4. +fFeelitem =@ Fd @0 vefe

EYlISEACICRICK

(i) Afifen< S (Balance of Trade)
(i) I T>5im
(i) S O (Balance of Invisibles)
(iv) SDR

Wﬂ? :
(A) (PTG (1)
(B) (ii) @ (iii)
(©) (1) e (i)
(D) (@), (i) € (iv)
5.9 @I group 57 ©ie 7w 7372
(A) G-15
(B) UNO
(C) ASEAN
(D) ILO
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6. With which terms TRIPS and TRIMS are
associated with?
(A) IBRD
(B) IDA
(C) IMF
(D) WTO

7. Items given below are related to
international trade theories. Match the items in
List X with most suitable options in List Y:

List X List Y
(a) Zero-sum game (i) Factor Proportion
Theory
(b) Labour-Capital (i1) Mercantilism
relationship Theory

(c) Relative-efficiencies (iii) Theoryof Absolute

of the producing Advantage
countries
(d) Positive  (iv) Theory of
sum game Comparative
Advantage
Codes:

(@ ® @© @
A) (i)  @Gv) (@) (@)
B) () (i) aGv) @)
© G @ Gv) (i)
D) Gv) @ G (i)

8. As per Carroll Model, the four levels of
Corporate Social Responsibility are

(A) Physical, Economic, Social and Legal

(B) Physical, Economic, Legal and Ethical

(C) Philanthropic, Economic, Legal and

Ethical
(D) Philanthropic, Economic, Social
and Ethical

9. EXIM Bank issues guarantees on behalf of
(A) all exporters from India
(B) exporters of construction and Turnkey
Projects
(C) Banks in India
(D) Government of India

6. TRIPS @ TRIMS #ifsel=l {6 &F0a 05t
Ao ?
(A) IBRD
(B) IDA
(C) IMF
(D) WTO

7. e wiRGweE s o qfteros

TFRT | X O RGNS Y oy

33 o] R 0 RIT T
©ifer el X ©ifere Y
(a) ¥ Gl (i) TAW Seire
(Zero-sum game) oW
(b) ST S TS (i) lferam og

(c) Teolv meiafer (i) AW IJREE o

oA el
(d) ISF @9t el (iv) Sesifws A
(Positive sum game) g
Wﬁ? :

(@ () () (@
(A) i) Gv) @@ (@)
B) @) (i) @Gv) @)
© Gy (@) Gav) (i)
D) @Gv) (@) a1 (iD)

8. Carroll W(wa S Fcficas ANEs
(A) (ST, GLfTes, AMTE G SAZHIS
(B) (ST®, GL(Al6s, Sigaoe G2 (Wies
(C) Ww3-fzredt, wdafes, Sizaee 3R

[Qioad
(D) W=-fZred, wdtafes, ANEE @z
[Qioad

9. EXIM 1% 5N (guarantee) (73 T O
(A) SRISAET 7K IRHTTF
(B) forsfiet @k oz evcaa aifep i
(C) CIR09T AIFTR(F
(D) OI® AT/




10. Foreign Institutional Investors (FII) and
Foreign Direct Investment (FDI) are both related
to investing in a country. Which of the
following sentences best exemplifies a

key distinction between the two?

(A) FII aids in the development of
managerial skills, whereas FDI just
brings in capital

(B) FII aids in the expansion of capital
availability in general, whereas FDI
only targets specific sectors

(C) FDIonly goesintosecondary markets,
whereas FII goes into primary markets

(D) Fllisthought to be more reliable than
FDI

11. Match the following:

List-1 List-11
(a) Inventory (1) AS21
Valuation
(b) Depreciation of Fixed (ii) AS 2
Asset
(c) Consideration of (iii) AS6
Accounts
(d) Revenue Recognition (iv) Ind AS 18
Codes:

» G 3> 3v)
A @ b @ (©
B) @ (© ® @
<G © @ ® @
O b © @ (@@

12. In consolidation accounts, the
amount of relevant pre-acquisition profit of
subsidiary company is adjusted with

(A) consolidated Profit and Loss A/c
(B) Net Profit of the Subsidiary Company
(C) Revenue profit

(D) investment towards Subsidiary
Company

06

10. RS Alore eeF @R QT 2o
i Towg @I (e NEeE A gF | Nied
@ AT TeEE W AN A e TrigEd ?

(A) “IfFBEel @i [Fies FII A=y
T @AE FDI (FREG e W
A

(B) FII Ai4izere ek affess f[eie ARy
T @A FDI (@<eTsig e <o
CFAE o A

(C) FDI (F3&1@ (el (secondary)
Jrenica RS F@ @2 FII 2iefs
Jrenica f[fve F@

(D) FII-& FDI-93 (A& @M frsacsly

A FA T

11. fasfeReslm fesed < -

O ©iferer-I1
(a) STECOT TR (i) AS21
(b) i Tifex s=ma (i) AS2
(c) e gfewad (i) AS6
(d) =@ FpfeFad  (iv) Ind AS 18
RPITTIZ :

»H Gy G Gv)
A) @ G @ (o
B) @ (¢ (b)) (@
© © (@ (@® (@
O b © @ (@

12. gead @ wdieg @rlifva A
pre-acquisition profit I AL ST F =

(A) I Fe-FHled A=
(B) wIdleTE @i 6 e
(C) ST (5517%) #r®

(D) =&z @eifacs e
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13. From the following statement of 13. T3 RIE(A) € & (R) (A= @FC IR
Assertion (A) and Reason (R) select the correct I AT Ted Lo T :

answer using codes given below: P
RIE(A) : FOTCIC FEHL TeoAVe IR A0S
Assertion (A) : Standard  Costing (4) N [T

facilitates reducing 2 ]/Wl
Product Cost. e (R) @ GG FPGR esive iy
Reason (R) : Standard Costing enables ol Sl |
efficiency in Production G :
Process.
Codes: (A) (A) € (R) Tex AT @3 (R) =&
(A) Both(A)and (R) are true and (R) is the (A)-a7 R
correct explanation of (A) (B) (A) ¢ (R) Teag AT @k (R),
(B) Both(A)and (R) are true but (R) is not (A)-a3 ABS ARy 7
the correct explanation of (A) (©) (A) o= g (R) 5= 711

(C) (A)is true but (R) is false

(D) (A)is false but (R) is true (D) (A) AT T 5% (R) 7o

14. Who can be statutory auditor of acompany? 14. @~iifa ffgaa W & 2o @ e
(i) A person should be a Chartered () IS HILTG SHFSHIG 200 2@
Accountant .
) o (i) @& 7o 20 76l (@i 200 =
(i1) A person should be an individual or - -
body corporate (i) 12 IR M IS (FIO SACTE 2
(iii) A person convicted in court of law (iv) AT @iifag Ax I T3, 9
12 years ago @IS AFHCER BIFE
(iv) A full-time employee of an un-related )
company AR
Codes: (A) () @)

(A) (i) and (ii) (B) (ii) @ (iii)
(B) (ii) and (iii) (C) (i) 93 (iii)
(©) (1) and (iii) (D) (i) 932 (iv)
(D) (ii) and (iv)

15. Environmental Audit is conducted by 15. “face @3 9 g «Afapifere =7
(A) Cost Auditor (A) 35 HLoF
(B) Supreme Audit Institution (B) JAfers SfCG 2APoHhe=
(C) Statutory Company Auditor () Rftam @i Faws
(D) Energy Auditor (D) G=IfE W
16. Activity Based Costing (ABC) refers to 16. Activity Based Costing (ABC)-&43 At
(A) Absorption Costing TfFe
(B) Zero based Costing (A) Absorption Costing
(C) Kaizen Costing (B) Zero based Costing
(D) Target Costing (C) Kaizen Costing

(D) Target Costing



17. Inpartnership, when a Goodwill Accountis
raised, the credit is given the old partner’s Capital
Account in

(A) new profit sharing ratio
(B) old profit sharing ratio
(C) gaining ratio

(D) sacrificing ratio

18. Determine debtors turnover ratio if closing
debtors is T 40,000; total sales T 4,00,000; credit
sales is 25% of total sales and excess of closing
debtors over opening debtors is ¥ 30,000

(A) 4 times

(B) 2 times

(C) 6times
(D) 8 times

19. Inagiven situation, the sales of a company
@200 per unit is I 20,00,000, variable cost is
T 12,00,000 and fixed cost is T 6,00,000. The
capacity of a factory is 15,000 units. Capacity
utilisation at break-even point level—

(A) 40%
(B) 50%
(C) 60%
(D) 80%

20. Assets taken over by the transferee
company in case of amalgamation is transferred to
Realistion Account at

(A) Book value
(B) Agreed value
(C) Original cost
(D) Fair value

X-7

06

17. TR I Sioe F17 T, S
SRR e 21 (F et 1 =

(A) Tgw re-Fieg
(B) Al sfe-Ffed N
(C) (oifeiR =g=iice

(D) AfewiEpRr SEoice

18. Debtors turnover ratio @efd <zeel
T 5@ Debtors T 40,000; (G 71T 4,00,000;
47 Ty (6 [RE@a 25%; 2f8F Debtor-ad
(2 wIf® Debtor T 30,000 &

(A) 49
(B) 2e4
(C) 624
(D) 8w

19. @I @ @R (6 K@ @200/2E(0
211t 3 20,00,000, #Afaasamier sifs<
z& T 12,00,000 @R B oAfFrm ==
6,00,000 | FRHLHH (NG Tofwe FFrel
15,000 units| Break-even point-¢
capacity utilisation feefsr see

(A) 40%

(B) 50%

(C) 60%

(D) 80%

20. Amalgamation-43 ¥ 921! (transferee)
(I (2 757 FToiv Sifd 2ize e, (T a1 Realistion
Account-4 ZSTS (transfer) F1 =7
(A) Book value-c®
(B) Agreed value-co
(C) Original cost-¢
(D) Fair value-c®
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21. In case of a straight line demand curve
meeting the two axes, the price elasticity of demand
at the mid-point of the line will be
(A) 0O
(B) 1
©) 15
(D) 2

22. A population has a mean p and standard
deviation o. A random sample size n is taken from
this population. Which of the following is true
about the sampling distribution of sample mean?

(A) Meanis pand standard deviation is o
(B) Mean is p and standard deviation
is cs/ Jn
(C) Mean is p/n and standard deviation
isc
(D) Meanis p/n andstandard deviation

is o/n

23. In the long run all costs are
(A) fixed
(B) variable
(C) partly fixed and partly variable
(D) uncountable

24. Whichof'thefollowing statementsis correct?
(A) When the average cost is rising, the
marginal cost must also be rising
(B) When the average cost is rising, the
marginal cost must be falling
(C) When the average cost is rising, the
marginal cost is above the average
cost
(D) When the average cost is falling,
the marginal cost must be falling

25. Which of the following cost curves is never
‘U’-shaped?
(A) Average cost curve
(B) Average fixed cost curve
(C) Average variable cost curve
(D) Marginal cost curve

21. %6 OFF QAN FREAERE vifzn @
Cw0g AF Nfmce vifenE Jeere FRfegivimen
N 209

(A) O
B) 1
©) 15
(D) 2
22, 4T ASETHE ALETHER T p
GR IF AL 6| @B 2AAEHT (A
FLRSIE @EA TR ARS 1| ABA
RERSER W&y Areifer RS T T
@ 2

(A) G p R ANF 2NLY o

(B) 1@ p &< 7 AT of/n
(C) 1T u/n 4R 7S AL o
(D) % u/n &3 S 21T ofn

23. AR e B

(A) f2=
(B) Afqasam
(C) WP 7 g3k ek wifasan
(D) SIoweaT

24. Sp7 IEqlr e @ Fore

(A) T 1G53 0T, O & 53 5113
MR

(B) T 9G53 AT, Ol A1 <53 S1a03
A AFE

(C) T 9T 5% TS A, AT 7 91
[EL S AR

(D) T 51T IR FACe A, 2N 7
T[T FACS A

25. Ta AW @Al S @b FUwe U
SRS ol 27 1 2
(A) 5T 5 (0
(B) °© fZa 1% (4l
(C) oI sAfRSAls 77 @2
(D) 2ife sfFsa®ie 57 @



26. Under monopoly the supply curve has
(A) apositive slope
(B) anegative slope
(C) aslope equalling zero
(D) no existence

27. What is the shape of the demand curve
faced by a firm under perfect competition?
(A) A horizontal straight line
(B) A vertical straight line
(C) Negatively sloped
(D) Positively sloped

28. Under which of the following forms of
market structure does a firm have no
control over the price of its product?
(A) Perfect competition
(B) Oligopoly

(C) Monopoly
(D) Monopolistic competition

29. What does a monopolistically competition
market have in common with monopoly?

(A) A large number of firms

(B) A downward falling demand curve
(C) The ability to collect prices

(D) Mutual inter-dependence

30. Which one is true for a monopoly?

(A) The product can not be produced by
small firms

(B) There can be close substitutes for the
product

(C) Products are high priced

(D) There is a unit-product with no close
substitutes

06

26. QFGHA AR (F0G (S9N (@R
(A) LIS BleT ACF
(B) A BI 2AICH
(C) TIETR S ¥+ 2
(D) ey %

27. 9 afs@ifoerss IAEE @
Tesime 2SI BifEn @U@
2

(A) SR el

(B) Tard el

(C) A DleTf*

(D) &S Bl

28. Tvd TS W @ ASE @I
T A SDITa O TCa M S (G oz
37

(A) I efscaifaret
(B) wifetcsiiolfer
(C) GFHA &=
(D) =il AferifroRERs are

29, QFGBHT IASET A GO
AferfarenEs AreiEa S A= @HEy S ?
(A) SR TR T 2fedie
(B) f=eiiS sifent a2l
(C) WIS 72 ol
(D) M SaeieTe!

30. GO AGIER (FG N A0 Ty
(A) 57 dfovE gl tofd T i =i
(B) w54 faroew #ifa<s w4y famsie
(C) Tyl T niNiig
(D) GFLIG 72y S0 AR Foos #/fFae
T3 (2
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31. Match the items of List-I with that of
List-1I and select the correct answer:
List-1 List-11
(a) Modigilani- (i) Commercial
Miller Approach  Papers
(b) Netoperating (ii) Capital Structure
Income
Approach
(¢) Short term Financial
Instrument
Codes:
@ B (o
(A) () (i) (i)
B) i) G (1)
© ® G (i)
D) Gy @) (iid)

(iii) Arbitrage

32. In how many years, the amount deposited
today at an interest of 14% per annum will be
double?

(A) 4-50 years
(B) 5-14 years
(C) 5-76 years
(D) 5-84 years

33. The amount of account payable was

< 3,000 in the current year as against
%2,000in the previous year. The effect on working
capital will be

(A) T 1,000 decrease
(B) 3,000 decrease
(C) % 1,000 increase
(D) ¥ 3,000 increase

31. OfFRLI-43 item-SfF AGT @fFR1-9F
item-fe1 Mo #foe Tealt a3 w5 -

@1 w1l
(a) Modigilani-Miller (i) Commercial Papers
Approach

(b) Net operating
Income Approach
(c) Short term (iii) Arbitrage
Financial
Instrument

(PIGTYZ
@ b (©
(A) () i) (i)
B) i) Gi) (1)
© o G (i)
(D) Gy @ (i)

(i) Capital Structure

32. AEE 14% Fr g w1 TSIt ot Tt v
TRa 9 wdq Afe fawe 2@ e
(A) 450 923
(B) 5-14 724
(C) 576 T2
(D) 5-84 724

33. IS T2 AW S A 3,000 G
S[F8] A= 2 2,000 Tl | IR [EIER o
Aeq T

(A) 1,000 G=el g3

(B) 3,000 TRl g

(C) 1,000 5=l Iz
(D) 3,000 5=l I
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34. Match the following items of List-I with
that of List-1I and select the correct answer:
List-1 List-11
(a) Independent (i) Projects whose cash
projects flows are not
affected by the
acceptance or non
acceptance of other
projects.
(b) Mutually exclusive (ii) Present value of
projects future net cash
flows discounted at
the cost of capital.

(c) Net present value (iii) Only one project

method can be accepted out
of a set of projects.
Codes:
(@ () (¢
A) (1) ai) (i)
B) @ () (i)

(©) Gi) (1) (@
(D) (i) (i) ()

35. The Capital Asset Pricing Model (CAPM)
establishes the relationship between

(A) Risk and EPS

(B) Risk and Value of the firm

(C) Risk and Required rate of return
(D) Risk and Investors’ cost of capital

36. For contingency exposure of
foreign exchange, the best derivative that can be
used to hedge is

(A) Forwards
(B) Futures
(C) Options
(D) Swaps

34, OfFm- 93 item-TR A @fFR-I-9F
item-fe1 Mo #foe Tealt a3 w5 -

olferel-1 olfere-11
(a) Independent projects (i) (I AFEafeg dom
approach A @ eEaed
a4 41 QU Q29«1
ERIGACE EACICEEIG|
DI
(b) Mutually (ii) SRACed 797 2_1Z
exclusive cost of capital Q<!
projects discount < 29
WW(Present
value)|
(c) Net present value (iii) S @@
method (AT (TG G0
Ape] &R <41 |
(PIGTYZ
(@ () (o)
(A) (1) (i) (i)
B) () (i) (i)

(©) i) () @
(D) Gi) (i) (1)

35. Capital Asset Pricing Model
(CAPM) Ti9 (41 =4 Bioie S
(A) I 9 IR aAfs SF-9F [y
(B) IfF @k 2D oT-99 e
(C) IfF @R 2T A A FACe 2
(Rate of Return)-43 3¢y

(D) I 93RRI o1 I3 (Cost of
Capital )-99 ¥y

36. AT FEMEIR contingency exposure~43
o) I derivative Tl hedging-93 & 2T
ERIRIRAV S|
(A) Forwards
(B) Futures
(C) Options
(D) Swaps

[ Please Turn Over ]
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37. In international capital budgeting, which
method is typically used to adjust for risk of
fluctuating exchange rates?

(A) Sensitivity Analysis
(B) Scenario Analysis

(C) Real option Analysis
(D) Simulation Analysis

38. The effect of speculation on exchange rate
is
(A) it causes violent fluctuations in
exchange rate
(B) it aggravates the market trends
(C) Either or both of (A) and (B)
(D) Neither (A) nor (B)

39. A view that dividend policy of a firm has a
bearing on the share valuation advocated by James
E. Walter is based on which one of the following

assumptions?

(A) Retainedearnings are only source
of financing

(B) Cost of capital does not
remain constant

(C) Return on investment fluctuates

(D) Return on investment does not
fluctuate

40. The current market price of a company’s
equity share is ¥ 90 and the expected dividend per
share is ¥ 4-50. If the dividend is expected to grow
ataconstantrate of 8%, the shareholders’ required
rate of return will be

(A) 8%
(B) 5%
(C) 20%
(D) 13%

41. For comparing the variability of
two sets of observations expressed in different
units, we use

(A) the arithmetic mean
(B) median

(C) the standard deviation
(D) coefficient of variation

37. SNEGifes e 475 oAftmm, Afadan
@ A& [eiTeid T 22
(A) Sensitivity Analysis
(B) Scenario Analysis
(C) Real option Analysis
(D) Simulation Analysis

38. ffaw@ 29 (Exchange rate)-<3 T7
speculation-4< &l 2&7
(A) Rf 2 o @ o
(Violent fluctuations) I
(B) IEEF 5ifs At 2ere! gifTe ==
(C) (A) @R (B) Toxg Al @ (I8
@0
(D) (A) 912_! (B) &IAIGE 1@
39. James E. Walter-4 e 36 afediera
RIS e 92 afewitTs feferee ifes (Dividend

Policy) ©oi 63 353 | M5 (e Srepstiesfers st
@Ioa Toix fefe wea «fb sfow?

(A) I (EISNTE GG T Retained
earnings

(B) Cost of capital iAo Qs

(C) 1fal (A Wit s oifs<s ==

(D) (AT wfers S wAfade z7 =l

40. GG == 2R IR TSI

e o1 T 90 R <FF Af ey sTerieeR
sAfgaeIT 4-50 1afrerenes erepfae Jaa wrifzafee
W 8% T, CRINEFCRMA AeiFe oiE@a 2F
(expected rate of return) 2¢3

(A) 8%

(B) 5%

(C) 20%

(D) 13%

41. fAfen o33 aife gt @R
ARSI Gl T Ty, S G2 I
NIRICIS R
(B) S99l (median)
(C) 1< “N1<f5y (standard deviation)
(D) SiIIeend 725 (coefficient of

variation)
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42. Ifthe events A and B are independent, then
A and B€ are
(A) independent
(B) dependent
(C) mutually inclusive
(D) cannot be ascertained

43. The standard normal distribution has two
parameters:

(A) (0, 1)
B) -1, 1)
© (2,2
D) (u,0)

44. For comparing the independence of two
attributes we use
(A) Standard normal distribution
(B) Poisson distribution
(C) Binomial distribution
(D) X*-test for goodness of fit

4s. is full of bias.
(A) Simple random sampling
(B) Quota sampling
(C) Purposive sampling
(D) Convenience sampling

46. Almost whole area under the standard
normal curve lies between

(A) z=-051t0+05
B) z=—1to+1
(C) z=-2t0+2
(D) z=-3to+3

2. A ¢ B 75 9541 (events) I F&W
(independent) 23, OIZ(A A € BC 23
(A) TES
(B) frsa=ia
(©) ~Mar=ifsrss ZergPre
(D) faf*sweica =1 T =i

43. OSSO IGGa (standard
normal distribution) 76 “N=rIfGE iz
(A) (0, 1)
B) -1, 1)
©) (-2,2)
(D) (u, o) [T, Frsp1]

44. 7HenGREGIFETS! (independence) T

A G SN L A

(A) 7G5+ (Standard
normal distribution)

(B) ‘7Tﬂ7{ 35+ (Poisson distribution)
(C) f@are 36+ (Binomial distribution)
(D) @O o1 Frthe &y x> 29!

45. AF((fo0g (bias) A5 |
(A) =& e e (Simple random
sampling)
(B) (@Gl 3n»ife1: (Quota sampling)
(C) Smirere ATtz (Purposive
sampling)

(D) ?ﬁ%wﬁﬁf Ti=ife1e (Convenience
sampling)

46. IHITIG e FI094 (standard normal curve)
R 7 e (30 (area) &% 31 AR

(A) z=-05@F+0-5
B) z=-1E@F+1
C) z=-2E@=F+2
D) z=-3CA<F+3

[ Please Turn Over ]
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47. As compared to primary data, secondary
data are collected

(A) rapidly and easily
(B) at arelatively low cost
(C) in a short time

(D) rapidly, easily, economically and
in short time

48. A research scholar wishes to see the post
IPO’s performance for the different firms in the
banking sector from 2010-2019. What kind of
series will he be using for the analysis?

(A) Time series

(B) Panel data

(C) Cross section

(D) All types of series as noted above

49. Listing the books, reports etc. that
are consulted for a research work is known as
which of the following?

(A) Referencing

(B) Footnotes

(C) Bibliography

(D) Neither (A), nor (B) nor (C)

50. A bag contains 5 white and 3 black balls.
Two balls are drawn at random one after another
without replacement. Find the probability that the

both balls drawn are black:
3
28
3_7
56
3
32
9

D) =
()64

(A)

(B)

©

47. AT TSI G, (5ol Toire AReg 41
X |
(A) @S R FLE
(B) SICoFFIFS T 4A®
(C) T8 FER e
(D) Toeld AlR®, FZ(E, T LG IR T
R R[RIE RS}

48. @G G BT 2010-2019 e
% iR eEER fen afevies =
(5IP% IPO-3 Il (140 Bi | Riesaee oy fof
Jt «@ea Pifae <27 FE?
(A) 7 P (Time series)
(B) #I7it=ia1 (To! (Panel data)
(C) @ fI@t9! (Cross section)
(D) Toitz Sfafire w7l Fifvez

49. 3T SR FGF Gy 2 T 27 @3
33, dferave 2wt Oiferiee 11 JIt69 (Fbre ?
(A) T (Referencing)

(B) “WGI! (Footnotes)
(C) ag7ife (Bibliography)
(D) (A), (B) €% (C)-7 @FIITE 77

50. = Afera Wz 5 A e 3% FieE Ie = |
OFHF 217 9 GG 76 761 LRSI 2feZioi i
FE O (FE| 29 | (Ol YIB! @12 FEN TR OF
AGI] el et

(A) —

B) —

O —=

D) —
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51. Among the points given below which is not
an objective of compensation?
(A) To increase or maintain morale
(B) Todeterminebasic wage and salary
(C) To improve the performance
(D) To reward for job performance

52. Statement I : Formal organisation is

planned and deliberately
created by management.

Statement 11 : Informal organisation arises
spontaneously without
official sanction by
management.

Which of the above statement(s) is/are true?
(A) Only I
(B) Only II
(C) BothIandII
(D) Neither I nor II

53. The authority flows from top to bottom
through the structure of an organisation is
(A) the Acceptance Theory of Authority.
(B) the Formal Authority Theory.
(C) the Competence Theory.
(D) the Organisation Theory.

54. Theleader making decisionin consultations
with his followers is known as
(A) Autocratic Leader
(B) Liberal Leader
(C) Democratic Leader
(D) Institutional Leader

55. The framework for establishing good
corporate governance was originally set up by the
(A) Nestle Committee
(B) Rowntree Committee
(C) Cadbury Committee
(D) Kumarmangalam Birla Committee

51. 5 2ve @D FACATIAT - 97 Sy 7372
(A) < O DL &R A
(B) &1 g @3 (@oe e
(C) Tl AT
(D) FFIO 27

o~ (

52, 3671 . el efsw ifssfere @
SRS ZlPe =3
JIEI7l« (management)
7|

: BEie AfSvie ForgFeeld
AR S 2O 2@
A |

& TGS N0 @ A @ei g
(A) @<TE

(B) (<eTIg 11

(C) 191 Teg

(D) 1912 1T (D2 7

Jeq 11

53. (FINe BT RN FEG TAT (A AG
LRIBCERE
(A) Ta sl cifa o sz’
(B) wie wafaf feanfs
(C) W [=I6™ e
(D)  SsiiRs= i

54, SN A 2 I PTaE @7 @ T,
fofq @ 7w ~ifafoe
(A) THABIF Tot
(B) TWF (Tt
(C) sereife ¢Tel
(D) aiff @Te!

55. e FAED TeEE-GF AT
TeTo A =il Ao 2@

(A) e SR

(B) =G {6

(C) wiecaf SHH

(D) TN [est S

[ Please Turn Over ]
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56. A/An isconsidered tobe a vertical 56. oW @3k Mifced SarR o T e 41 2,
move in terms of ranks and responsibilities ©f To—

(A) Appraisal
(B) Promotion
(C) Reward

(D) Increment

57. When a manager asks people in conflict to
remember the mission and purpose of the
organisation and to try toreconcile their differences
in that context, he is using a conflict management
approach known as

(A) Reduced interdependence
(B) Buffering

(C) Resource expansion

(D) Appeal to superordinate goals

58. Which of the following is involved
in ‘in-basket’ training?

(A) Simulation

(B) On the job training

(C) Vestibule training

(D) Coaching

59. Which of the following statements is not
true for delegation and decentralisation?

(A) Delegation is the process and
decentralisation is the result

(B) Delegation is between superior
and the subordinate whereas
decentralisation is companywide
delegation

(C) Delegation creates organisation
pyramid

(D) Delegation is optional whereas
decentralisation is a must

60. Who coined the word ‘Collective
Bargaining’?
(A) Reed Richardson
(B) Kurt Lewin
(C) W.E.Deming
(D) Sydney Webb and Beatrice Webb

(A) TR (Appraisal)
(B) “itrEfe (Promotion)
(C) +5%F (Reward)
(D) @Wﬁﬁ%’w (Increment)

57. @A TS (people in conflict)
4 S5 (manager) TR T €
Tl TR0 FAO AET GR GIE A
[ N\‘JQ{T@ ﬁﬂﬂ(ﬂﬂ CS@T¢C§I“I,W%%
7w TPt (1 i@t IR T Gilb 28

(A) AT FSaRieTe! S

(B) dwifaR (Buffering)

(C) 3~ I

(D) Teisa s Wi e (rewl (Appeal

to superordinate goals)

58. wa @G ‘in-basket’ AfREFI-ag TrEefS ?

(A) Simulation

(B) et 2f¥FFet (On the job
training)

(C) oFBiea af*mFe (Vestibule
training)

(D) IR (Coaching)

59, oA IS T @b Afsffng
4R REHFA0-97 Ty AlGF 772
(A) dfeffag @i e a3 Remeae-aa
e
(B) dfsfafag @i Twemifaidt @3z
frsmifEmIaa s, Eraiie Rcsasad
g @R e afsfafag o
(C) 2feffag sl Faifie ave s@
(D) dfefafay @, @A @
SRR

60. ‘Collective Bargaining’ *I%fG (F 53
AN ?

(A) Reed Richardson

(B) Kurt Lewin

(C) W.E.Deming

(D) Sydney Webb @<k Beatrice Webb
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61. Which of the following non-quantitative
methods are practiced by Reserve Bank of India to
control credit creation?

(i) Credit Rationing
(ii)) Open Market Operation
(i11) Variable Reserve Ratio
(iv) Margin Requirement
Codes:
(A) (i) and (ii)
(B) (iii) and (iv)
(C) (i) and (iv)
(D) (ii) and (iii)
62. Which of the following is not the function
of NABARD?
(A) To promote research in rural
development

(B) Tograntlong-termloanto Central
Government for agricultural
development

(C) To serve as a refinancing agency
for providing finance to
agricultural development

(D) To take responsibility of

inspecting State Co-operative
Banks

63. Match the following between List-I and
List-11 to select the correct combination using the
codes given below:

List-1 List-11
(a) Inter Bank Call Market (i) Short-term
maturity
(b) Commercial (ii) Govt. Paper
Paper

(c) TreasuryBill (iii) Money Market
(d) Repo Market (iv) Corporate Bond
Codes:
@ @G © @
(A) Gv) (@) (1) (i)
B) (i) Gv) () (D)
© Gi)y @ G aGv)
D) @ G Gi)  (v)

61. S5 SIS (I (P SR Aafo eI
fRerS % 4 1% s e <= w0
() Gl @=ifag
(ii) ST TCFG SACTH
(ili) wifdeze fers sre
(iv) Tfee Tsmiaers
Wﬂ? :
(A) (i) 9% (ii)
(B) (iii) 9<% (iv)
(C) (i) 9=R (iv)
(D) (ii) 9= (iii)
62. T3 AT @6 NABARD-9F e
7372

(A) AR SN S26ifors A T4

(B) IR TWEE & (FER AIFAE
FroTIfiT A 2w =

(C) I AT e (e ooy iz
G R Fie F1

(D) 9IS (@-SACEbe UiF Afmsa nifg
e

63. A @S ©OIfFT-1'6 O)fFa-11-93 5 Werwae

e -
Oiferer- GEa ]
(a) T T &1 N6 (1) o mbeHb
(b) ST Aol (i) I Plore
(c) @eif e (iii) W M
(d) G D (iv) CAICEs 9%
(PIGTYZ :

(@ b (© (@
(A) (v) (1) () (iD)
(B) (i) @(v) @) (i)
(©) i) @ () (Gv)
D) ® @) aGi) @v)

[ Please Turn Over ]
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64. Which of the following is not the purpose of
Insolvency and Bankruptcy Code, 20167

(A) To resolve the dispute between
the company and a bankrupt
debtor

(B) To empower creditor to recover
its dues in case of non-payment of
dues to them

(C) To facilitate the availability of
credit for banks

(D) To balance the interest among
different stakeholders at the time
of default in contractual payment

65. Who is the regulator of Mutual Funds in
India?

(A) Reserve Bank of India

(B) Securities and Exchange Board
of India

(C) Associations of Mutual Funds in
India

(D) Mutual Fund Regulatory Board
of India

66. Immediate Payment Service is
managed by
(A) Reserve Bank of India
(B) National Payments Corporation of
India
(C) Ministry of Finance, Govt. of India
(D) Consortium of Indian Banks

67. For the following statements of Assertion
(A) and Reason (R) select the correct answer using
the codes given below:
Assertion (A) : Increaseinnon-performing
asset adversely affects
profitability.
Reason (R): Non-performing asset
results in decrease in the
amount available for loan.
Codes:
(A) Both(A)and(R) are true and (R) is the
correct explanation of (A)

(B) Both(A)and (R)are true and (R) is not
the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

64. 53 @G Insolvency and Bankruptcy
Code, 2016-93 STw*lj 7372

(A) @l e @S aifie mamiEs
S R Fosife w21

(B) “lleamizal S aisly a1l (e,
O o] 2wl [

(C) JIES Aol Afeice =zl F41

(D) pfeam Sidfzmia (2ael 2e, AT
fafeq “itwa FdT g Sy
! 41

65. SICe NepE Troslm s 77l & 2
(A) Sier Ters %
(B) Mifsefiba e «aibe @IS o 2few
(C) ST =15 [ISHHTe FeH 5w
Bl
(D) FCHIE FIC ([UTEHE (A o=F 3w

66. Immediate Payment Service #IfF5ifeTe 27
RIERAE]
(A) OFoR fFers U=
(B) =11 CAGIOA oA oree 3l
(C) TLEF, OIS FF
(D) SIS AIFTET FABIA
67. ABA {3 (A) ¢ G (R)-93 Ty 2ve
@eef (A AT Teals [v T -
RIE(A) : SRAMST T Ia AR
AT TA7 [met 2eiq
T |
D SRAMS AHAfET Ty Ane
Yol SAfastiel g7 o |

& (R)

(PIGTYZ :
(A) (A) € (R) Te33 7% @32 (R) =&
(A)-a3 A= gt
(B) (A)8 (R) Texs #(9s @32 (R) e
(A)-93 I apyt =7
(C) (A) 7= g (R) Ao 7
(D) (A) 7= 7@ 78 (R) 7



68. Basel 3 is not applicable on
(A) National Housing Bank
(B) Export Impact Bank
(C) NABARD
(D) NBFC

69. With which fund Tracking Error is related
to?
(A) Index fund
(B) Debt Fund
(C) Guilt Fund
(D) Conservative Hybrid Fund

70. Capital Adequacy Ratio refers to

(A) (TierICapital + Tier II Capital) +
Risk-free Assets

(B) Equity Share Capital + Total
Assets

(C) (Equity Share Capital + Borrowed
Fund) + Total Assets

(D) Total Capital + Risk-adjusted
Assets

71. Which of the following is true about the
Howard Sheth model?
(A) Consumerbehavesrationally and
in a repeated manner

(B) Consumer behaviour depends on
certain incentives

(C) There are four (4) variables
(D) (A), (B) and (C) all are true

72. When two or more existing brands are
combined into a joint product, it is called
(A) Co-branding
(B) Mix-branding
(C) Joint-branding
(D) Both (A) and (C)

X-19 06

68. (T T &« Basel 3 dey «%
(A) T 2THR TE
(B) HCAG-ZM0AG 1%
(C) TS
(D) @« & @ ™1

69. Tracking Error (54 (&l FI-93
e FA|fFo ?

(A) T TS

(B) (U3T FIT

(C) o5 Tre

(D) FTACeTS 23T FIT

70. SHAES S TS @IS (@R
(A) (Tier I 374« + Tier II Je14) +
e srife
(B) 33936 (i STk + G rnife
(C) (32 (I [ETH + Al o) +
@G e
(D) (N e + s mrEage 7ife

71. fsfefRe-93 S5 Howard Sheth
GG (GG (0 TP
(A) ceTedl IfGYE (rationally) «@3g
IS (repeated ) & OTS SIH F
(B) (SI&d wvgd AW IMemibe-ad
(incentives) 49 g =
(C) B3 5e7F (variable) ®I(Z
(D) (A), (B) €3¢ (C) 7R3 e

72. T 7 A ool [N (existing) TS
@3 @12 (joint) A GFTO T, O OICH I67 T
(A) @R (Co-branding)
(B) fs@-anifer (Mix-branding)
(C) @2-anfeR (Joint-branding)
(D) (A) 9=k (C) TorR

[ Please Turn Over ]
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73. The SERVQUAL model deals with
(A) Green marketing
(B) Testing of product
(C) Quality of services
(D) Retailing

74. Match the items of List-I with the items of
List-1l and select the correct match using the codes
given below:

List-1
(a) Sincerity
(b) Excitement

List-11
(i) Upperclass,Charming
(i) Reliable, Intelligent,
Successful
(ii1)) Down to Earth,
Cheerful
(d) Sophistication (iv) Outdoors, Tough
(e) Ruggedness (v) Spirited,
Imaginative,
Up-to-date

(c) Competence

Codes:

@ () (© (@ (o)
(A) (v) (i) (1) @i) @[Qv)
B) @) Gv) (i) (i) (v)
©) (i) (v) G (1) Gv)
(D) Gi) (O aGi) (v) @)

75. Whichtype of differentiationisused
to gain competitive advantage through
the way a firm designs its distribution
coverage, expertise and performance?

(A) Channel differentiation

(B) Services differentiation

(C) People differentiation

(D) Product differentiation

73. SERVQUAL S(SGER A Ai{Fe

(A) & 94 (Green marketing)
(B) el “iS1! (Testing of product)
(C) “fFma Ti= (Quality of services)
(D) ¥5%1 e (Retailing)

74, T O € OIfFF-II-GF &
el YT FFa @R A @eA @Fe
L I AfGT [We1s WLioe e

olferp-1 wlfere-I1
(a) wIEfTSl (i) Tobcxlfel, SR
(Sincerity) (Charming)
(b) TresHl (i) Fr&zaian, 3fate, 75
(Excitement)
(c) Fhrwel (i) == (Down to
(Competence) Earth), S«
(d) =ferel (iv) %cza Afzez (Outdoors),
(Sophistication) BIGE) (Tough)
(e) SISl (v) 0o (Spirited),
(Ruggedness) FEIATA, Jraneiclan
(Up-to-date)
(PITTIR :

(@ () (¢ (@ (e
A) (v) () @ a6i) (v)
B) () @v) (i) (i) (v)
(©) (i) (v) @G @) (v)
D) () @ a6 (v) (v)

75. aAfSrifrerRE I S o 46! AT
@I 5011 19, Resiaeee! @ wirwel sifwa

(A @I (I LA AL ?

(A) Biittel  #j4e99 (Channel
differentiation)

(B) #fq@al #2FFa9 (Services
differentiation)

(C) W3 A4qF1FF4  (People
differentiation)

(D) sid7  7|qFFI4  (Product

differentiation)
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76. For the following statements of 76. BT ISEE K ATE 7%77% (A) @
Assertion (A) and Reason (R) select the correct I (R) (A (@ A2 I AT Tt e

answer using the codes given below:

P -
Assertion (A) : Higher  customer )
expectations lead to 719(4) : SR Tw-2reyil SPIEICE
dissatisfaction as product % fre am @y S
performance never PRFTS] FINR ST I (T
matches them. BRIl
Reason (R)  : Product performance is & (R): ol IIwTel AW AT
always customer specific. I |
Codes:
. (:as)wjigg :
(A) Both(A)and(R) are true and (R) is the i - i
correct explanation of (A) (A) (A) &R (R) TOTR [, €<k (R) 2T
(B) Both(A)and (R)are true and (R) is not (A)-a7 R
the correct explanation of (A) (B) (A) @& (R) Texg {3, 43 (R),
(C) (A)is true, but (R) is false (A)-93 I apyt =7
(D) (A)is false, but (R) is true (€) (A) 7=, % (R) @&
(D) (A) &=, 5% (R) s
77. is defined as being 77. &GO (& QT RETFOI(J AT

relatively homogeneous and enduring @R R e i [ehbe =, @ e

divisions in a society, which are (ulferra @R R AT GFZI JECEI, T2z @R
hierarchically ordered and whose members share SIS SR

similar values, interest and behaviour
(A) 7KF® (Culture)

(A) Culture
(B) Subculture (B) Ti<3f® (Subculture)
(C) Social class (C) wiferss i (Social class)

(D) The family (D) “If%a1% (The family)

[ Please Turn Over ]
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78. Match the items of List-I with the items of

List-1I and select the codes of correct matching:

List-1 List-11
(a) Convenience (i) Consumer
goods purchases
them
immediately and
with minimal
effort.

(b) Shopping goods (ii) Consumer compares
them on the basis of
suitability, quality, price
and style.

(c) Speciality goods (iii) These are goods with
unique characteristics or
brand identification.

(d) Unsought goods (iv) Customers are not
aware of them and
normally do not think
of buying them.

Codes:

(@ () (© (@
(A) (1) (@v) @) (iii)
B) () ai) @i) (iv)
(©) (v) (i) (@G1) (@)
(D) (i) (1) (i) (@Qv)

79. Which of the following price
structures is designed to accommodate
the various categories of buyers?

(A) Target pricing

(B) Captive pricing

(C) Penetration pricing

(D) Differential pricing

78. ©IfFRI-1 'S OlfFR-I1-47 S e (T 3%
(T I I AT B’ e e

oIfer-1 olferp-1
(a) ARG ey (i) Colreredt
(Convenience goods) ST @
I QR JTOT
ARG |
(b) Rl sfa (ii) Criterel Triges,
(Shopping goods) QI 36T GR
iR fefars
OIS Qo1 S |
(c) R =iefy (iii) Q@feT Sy
(Speciality goods) AT
e «fEhie g&
297 |
(d) SR el (iv) 2129l oitma
(Unsought goods) T=ATE A
T @R Al
et (el 2l
O =l |
(PIGTYZ

(@ () () (@
A) () @Gv) @i (iD)
B) @) G () (Gv)
(©) Gv) @i) () @
D) G (@) @) ((v)

79. @Foiva [fen FGIE Tege F419 T
e @i w2 e
(A) - fqdige smfe (Target
pricing)
(B) SR&-7IN fdze sl (Captive
pricing)
(C) wrers a-mw  fqfige o=wfe
(Penetration pricing)
(D) ANLFT[eE wiw {7 ommfe
(Differential pricing)
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: Distribution channel links
manufacturers and
customers.

Statement Il : Distribution channel

creates time and place utility.
(A) Statement I is correct and
Statement II is incorrect
(B) Statement II is correct and
Statement I is incorrect
(C) Both the Statements are correct
(D) Both the Statements are incorrect

80. Statement I

81. The person who delivers the goods
as security for payment of a debt or performance of
a promise is called the

(A) Pledgor
(B) Pledgee
(C) Bailor
(D) Bailee

82. Under which of the following sections of
the Indian Contract Act an agreement not
enforceable by law is said to be void?

(A) 2(a)
(B) 2(b)
©) 2(H)
(D) 2(g)

80. A3l 1

: 3%+ (Distribution) BIICeT
ol @R aAzFmE TIE
I |

: 3%+ (Distribution) BIICeT
N IR BT SAEI (o
I |

(A) 3% 1500% @3z [9fS 11 g=1

(B) R3S 11 (0% @3r {91 [ g

(C) Tox fgfez o

(D) T fqfe g

3fe 11

81. @ & & AT ooy wifie &A1 el
SRR 0 A elfseismd w0 it A0
(A) Pledgor
(B) Pledgee
(C) Bailor
(D) Bailee

82. Contract Act-93 (F9 41 SFPIE @ pie
2 QI ATORETS 3 Ol qlfos 2
(A) 2(a)
(B) 2(b)
©) 2(f)
(D) 2(g)

[ Please Turn Over ]
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83. Future goods means

(A) Goods to be manufactured or
acquired from third person by the
seller after making contract of
sale

(B) Goods to be manufactured or
produced or acquired from the
third person by the seller after
making contract of sale

(C) Goods to be manufactured or
produced by the seller after
making the contract of sale

(D) Goodstobeacquired by the seller
after making the contract of sale

84. What is not true about the ‘bills of
exchange’?
(A) Itisan instrument in writing
(B) Itis signed by the maker
(C) It contains a conditional order
(D) Certain sum of money is
mentioned on the instrument

85. The Charter of a company is its
(A) Prospectus
(B) Memorandum of Association
(C) Certificate of Incorporation
(D) Articles of Association

86. Statutory meeting needs to be held
by
(A) apubliccompany limited by guarantee
and having a share capital
(B) a public company where liability of
its members unlimited
(C) a government company
(D) a public company not having share
capital

83. SRR 7l FWICS @RI

(A) @ o) R pies #17 Riarol ege
TR 9L GO (e e (AT
MRAL FCI

(B) @ =iy fiera pies 717 [Rtarel ofge
IR LN BoAT (R LA PO
@IS JET (AT MRAZ IR

(C) @ =l fiera pies 717 [Rtarel oge
T T TeAM FF

(D) @ )y e B +17 [Rearel gor
@IS HET (AT FRAZ IR

84. T3 @I e o @I;HET (2T) ¢Fa
o F77e
(A) 951 @301 ferfe Seiael
(B) 9o S Cofd Fcaw, ©iF =4l Fwie
AF
(C) TS *[SIq JNWH! AN
(D) ToRmaTe! Gih W78 Sl wifamie Tramfre
AF

85. (I™ife 7w 251 @
(A) ZBTCogT
(B) “AfcrET=
(C) e weg *iAl#lg (Certificate of
incorporation)

o~

(D) Srergdts et

86. e ot e 26w awe T 7l

(A) SIS BT STRE 2t o
AT @32 AR (<I SERE SR

(B) @ HARfew @rifacs g
@FERME i Ag 79

(C) =T=IF @l

(D) @ ARG @A @ TR
TEL (73
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87. Which among the following offences under
IT Act, 2000 has the maximum penalty of
imprisonment up to life?
(A) Usingpassword of another person
(B) Securing access or attempting to
secure access to a protected
system

(C) Publication for fraudulent purpose

(D) Acts of cyber terrorism

88. If the public information officer fails to
give information to the informant within the period
specified under the Right to Information Act, it is
called

(A) Contempt

(B) Holding information
(C) Deemed refusal

(D) Time out

89. A copyright is a kind of
(A) movable property
(B) personal property
(C) immovable property
(D) personal and movable property

90. Change of registered office of a
company from one place to another in
the same city requires

(A) board resolution with intimation
to MCA

(B) special resolution

(C) ordinary resolution

(D) special resolution with Central
Government approval

87. IT Act, 2000 ST A (@I S771
ST *I1fE oI TS Fime (e 22
(A) SR ARETE [T T4
(B) FAfFe FITHIK I A3« F1 Al
A <l /41
(C) ZORONETS Gy e il
(D) 2R BT FREFE FIS

88. Right to Information Act SIS, #iafers
FAFAEHI AT 92 &1EF (informant)-F WS
SRR T 9 face L 20, St 6 =

(A) Contempt

(B) o 4 I
(C) ZSFIRT-Sgzne
(D) Time out

89. T UF W=
(A) =ERE g
(B) f&are F~rifie
(C) BRF F~ife
(D) f&sr® g3 TERT Tife

90. (I SR g2 *2EF 9F TR (A
(A) @I0EA P18 93k MCA-E SI=IG!
(B) e faeia Prare
(C) o= A« Prare
(D) ok Keeia Praie ¢ @ 7=HiEa

o
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91. Which of the following two statements are
not characteristics of Tax Planning?

(i) Arrangement of one’s financial
affairs by taking legitimate benefit
of all deductions

(i1) Omission of incomes earned from
other sources during the previous
year

(iii)) Claiming deductions under
Section 80C and 80CCD(1B)
without investing in the schemes

(iv) Having no intention to deceit the
legal spirit behind tax laws
Codes:
(A) () and (iv)
(B) (iii) and (iv)
(C) (ii) and (iii)
(D) (i) and (ii)

92. Reasonable Expected Rent (RER) of ahouse
property for computation of Gross Annual Value s
determined in the following manner:

(A) The Municipal Value is taken as
the RER

(B) The Fair Rent of the property is
taken as RER

(C) The Municipal Value minus the
Standard Rent is taken as RER

(D) The higher of Municipal Value
and Fair Rent subject to the

maximum of Standard Rent is the
RER

[ et

91. fsfhiie RYfewhr Wy @@= ¥ 7
“Afeesrea (MY 7772

(i) TIE AR @ Sl (4 i 2zt
@ FIRe widT e Iagem
=41

(i) e BT (A O A oI
T o 4l

(111) 80C ¢k 80CCD(1B) =4 BIRQIE
@I AfREIces R T S
T2 4T 9 BT G ST
oI Tme 5

(iv) ST SR SN (GO [F ST

T 30 =i R AT T
(PITITY2 :
(A) (i) 9% (iv)
(B) (iii) 93 (iv)
(C) (ii) €= (iii)
(D) (i) 9=k (ii)

92. GG IR 5T 91ee1< &ely (Il AT Tifez
Ifeomre Aefie el (RER) FHfie safore
ﬁ%{fﬁ@“@ :

(A) Tzerelz f4ifee 3o RER e
e

(B) Ifex 4 ol RER e
Eeq =

(C) TSR T (AT FHISE ©iet
v W@ RER (€3 23

(D) FHIfEE SoEIG SIe! AATF (N

T R AR OOR @ 2F
RER
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93. An individual who has income from other
sources and income from business will use for
income tax filing
(A) ITR -1 form
(B) ITR -2 form
(C) ITR -3 form
(D) ITR -4 form

94. Match Column A with Column B:

Column A Column B
(a) Deduction from Gross (i) ¥50,0000ractual
Total Income in respect amountofinterest
of amount spent for whicheverisless
treatment of specified under section
diseases under rule 80TTB

11DD for a senior citizen
(b) Deduction  (ii) ¥ 1,00,000
from Gross u/s 80ODDB
Total Income in
respect of eligible
start-up set up by a
company in February, 2021
(c) Deduction from Gross (iii) 100% of profits
Total Income in respect deductable for
of profit and gains from 3 consecutive
business of bio-degradable ~ assessment years
waste u/s 80-IAC

(d) Deduction from Gross (iv) 100% of profits
Total Income in respect deductable for
of interest on deposits in 5 consecutive

banks and post offices of assessment years
senior citizen u/s 80JJA
Codes:

(@ () () (@
(A) (i) Gv) @@ (1)
B) (1) (i) @Gv) @
(©) Gv) () @) @
(D) Gii) () @) ()

93. «Fe i [ S <7 (other sources)
GIR A (IF O I, Fof sie wizs Fai9
T (@ T AR FAE O T

(A) ITR — 1 =
(B) ITR -2 %%
(C) ITR -3 5%
(D) ITR - 4 =

94. TTA YR BEB-AF N feTaae
(FIC SR AoF Tex W1oe et -

TTA ©T B
(a) 29 FoFTEWI T (1) 50,000 T =L
¥ 11DD-7 9i&i, T A ATl

oo &y Mg @l =i 80TTB
Ty A A ARER ORI S @
G = (A 2T BT

(b) ‘Start up’-<F (FCq (i) % 80DDB

@& 2021 A NIBIEACEIO]
Tomie-9q (FCE Al 1,00,000 Si=t
(TP 1 RIS o2
(c) AR-T=FHIAEI (iii) 3T oI o7
o] 2T € SICPIETS I2

Ao P 100% Iw (et
(ATF TS GR AT ZE(4RA80-IAC)
CHCq (N6 = (AT =S
(d) 2 AW iP5 (iv) 5T o9 o=
(G GG =N (AF =S ced 100% W
(411 80JJA)
(PIGTYZ :
(@ (b) (© (@
(A) (i) (Gv) (1) (i)
(B) Gi) (i) @(v) (1)
(©) Gv) Gi) @Gi) (1)
(D) i) (1) (1) (@v)

[ Please Turn Over ]
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95. For the following two statements of
Assertion (A) and Reason (R) indicate the correct
code:

Assertion (A) : Foranew plant costing
T 1 crore installed in a
factory in a notified
backward area in West
Bengal in May, 2021 and
used throughout the year,
additional depreciation
allowance can be claimed
under the Income Tax Act.

Reason (R) : Additional depreciation is
allowed at the rate of 35%
for new plant and
machinery installed in a
notified backward areas of
West Bengal under section
32(1)(iia) of the Income
Tax Act.

Codes:
(A) (A) and (R) both are correct but
(R) does not offer full explanation
for (A)
(B) (A) and (R) both are wrong
(C) (A) is correct but (R) is wrong

(D) (A) and (R) both are correct and
(R) offers full explanation for (A)

96. X an ordinary resident earns income from
business in India of Rs. 10,00,000 and
income from business in Uganda (with
whom Govt. of India has no double tax
avoidance agreement) of Rs. 6,00,000

(tax paid Rs. 1,20,000). Average rate of tax payable
inIndiaby X is 17-21%. X can claim arelief u/s 91
of

(A) Rs. 1,03,260
(B) Rs. 1,20,000
(C) Rs. 2,75,360
(D) Rs. 1,72,100

95. o3 TSI W [F7O(A) 9% TS (R)
weT Wi, ASS (@I Dz < :
5o (A) : 2021 A= @ AT 26w
JET G MG ST
GFH IR @F FH Gizl
AETR G0 Toa IF PR
A (PR AEI G Soe
ST o] S SN2
G Wik 1 A |
J& (R) : @3 IR 35% 2F Tfoie
DT O], <P \'NQ(.-M
32(1)(iia) A= SAREIRCER
I ST DL TED

() eI |

(PIGTYZ :

(A) (A) @& (R) Te@z 7A0F, 9@ (R)
(A)-97 TG Tsfef it ool 11

(B) (A) €= (R) To@E W&

(C) (A) AT ot (R) gel

(D) (A) 4= (R) To@z A, 9 (R)-97
Gy A5pe QI IR A

96. X a3 ALF (ordinary) resident SO
R (A 10,00,000 T S I G TG
(T4 AN e« double tax avoidance pf& (-12)
@ AP (ATF 6,00,000 GIF S FRACR (IE
Told SRR awie 1 2@z 1,20,000 Til) X-93
OIS AW T8 O K9 T 17-21% | X SR

91 4R SR T4 BT WA FACO AT
(A) Rs. 1,03,260
(B) Rs. 1,20,000
(C) Rs. 2,75,360
(D) Rs. 1,72,100
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97. Income accrued outside India and received
outside India is taxable in case of

(A) Resident and Ordinary Resident
(ROR) only

(B) Resident but not Ordinary
Resident (RNOR) only

(C) Non-Resident only
(D) ROR, RNOR and Non-resident

98. Select the right answer:

The basic intention underlying Transfer
Pricing regulations for taxation of international
transactions is to prevent:

(a) shifting of profits by increasing
the prices charged by an overseas
entity or paid by an Indian entity
in international transactions.

(b) shifting of profits by decreasing
prices charged by an overseas
entity.

(c) shifting of profits by decreasing
prices paid by an Indian entity.

(d) accounting fraud

(A) (a)
(B) (b)
(C) (a), (b) and (¢)
(D) (d)

97. ©ICed ABE R W ©Eed AT AlY
R T R I

(A) SIRIPRE @3} e i@ (ROR)
(B) Pl ©F Al At (RNOR)
(C) SHRIPR

(D) ROR, RNOR @3 S=I<IfPRF

98. (I Tedb bIw e
Transfer Pricing &R TR e
R @ @IE @30 2B dferia 321 8

(a) Rt 1Kz 95 vier a1 o ASE
WL OISR AE A Wi Fo
BICRRICEE)|

(b) R iz ==l o T4 A g IR
BICERRIICE

() (I SRS AL A 2 HIS Z (A
GISERRIICE

(d) A e Fapf

A) @)
(B) (b)
(©) (@), (b) @R ()
D) (D

[ Please Turn Over ]
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99. T Ltd. started a business in SEZ during
2014-2015. Profit of the business I 18,00,000,
Export sales ¥ 70,00,000, Local sales
% 10,00,000. Deduction U/S 10AA for

the A.Y. 2023-24 will be

(A) ¥ 18,00,000
(B) ¥7,87,500
(C) % 15,75,000
(D) ¥3,93,750

100. Whichofthe following statements
are not true?

(i) DuetoE-filing, assesses can view current
status of the return
(i) E-filing is mandatory for resident
individuals in India whose income
exceeds < 5,00,000
(iii) E-filing returns is mandatory for
companies

(iv) E-filed returns cannot be considered by
the assessing officer to be defective under
section 139(9)

Codes:

(A) (i) and (iv)
(B) (i) and (iii)
(C) (ii) and (iv)
(D) (ii) and (iii)

99. T Ltd. 2014-2015 A= SEZ-9 36 I
WP A | AP (A YA 2 18,00,000 TR |
7N Rz wfsme == 70,00,000 5=l ZiSE
R sifEwe w1 10,00,000 B |
2023-24 Assessment Year-€ GTF<ie 10A A ST
B (Deduction) TS :

(A) T 18,00,000
(B) ¥7,87,500
(C) ¥ 15,75,000
(D) ¥3,93,750

100. kT RYfowhw S @b 7oy 7777
(i) E-filingSaQ 2 enz<eamrel fHoi
TG S| (AT ACE
(i) E-filing <<I01 FTOBE G5«
SIS AP S AR S

A5 7 GieIE (@

(iii) (Frifaef@a F@ E-filing
RISISINGE

(iv) E-filed ROH ermaa@l ST
B9 @&Hge 5 {1 139(9) )
N« T =

(PIGTYZ :

(A) (i) 9% (iv)

(B) (i) 9= (iii)

(C) (ii) 9% (iv)

(D) (i) 9= (iii)
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